Algebra 2

Composite Functions Practice (Day #2)

Name

Date

Period

Application: If you buy a $40 pair of Marc Anthony jeans from Kohl's, and you have $10 Kohl's

cash and a 20% off coupon, which order should you tell the cashier to apply the discounts?

Perform the indicated operation.

) f (a) =2a+2
g(a) =-2a% -4
Find (/ ° g)(4)

3) g(x)=x2——1
f(x)=4x—2

Find (go £)(-3)

5) glt)=r+4
We)=1—4+2¢
Find (g o h)(-5)

2) h(x) =2x-35
g(x) =4x -1

Find (h ° g)(—7)

4 glx)=x+1
h(x) =—x-13
Find (g~ 7)(2)

6) f (n) =-2n* —2n
g(n) =-3n-4
Find (f © ¢)(2)
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Perform the indicated operation.

1) fla)=2a+2
g(a) =-2a%-4
Find (f * g)(4)

(= =2 (4-4
o= ~ 3
Qo (=30 ~ 2212
o]

3) glx)=x"-1
flx)=4x-2
Find (g° £)(-3)

£+ H(-3)-2 = -4
(-1 = 1=

(9 DQ)C_%: +{95 (/

Mt

5) gl)=r+4
We)=1 -4 +2t

Find (g0 h)(-5)
W(-5)= (-5y-4 +2(-5)
= 25 -4 -to =1\
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2) hix)=2x-5
g(x) =4x -1

Find (ho g)(=7) = M( 9 (- 7
g(-7)= HET-1 > =2

M9(’ ) = h(-29) 2E2D)-5 =)

g,

Find (gon)2) = 9 (Mﬁ\\

W)= -273 -5
(h()= 3(_5\ -~ -5+
—_(’1(‘7

6) f(n)=-2n*-2n
g{n) =-3n-4

Find (f * g)(2)
(D= -3 - 20
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